WHIEHL |HEH2 (W2EE3 [WweEE (B
KRR | R as | AR | 1) MER &
SR Ff PR [EEEL L 2 3 4 EHE
50 REE |50 _RAM=L
| |[BhseEg T4 | fa o |#0% |30 145 e
H 502 | 50
2{MEFRATE 1o sz |gO%. |2 60.00 | 70.00 W
(KRR 2T R LT MR T
3B/ IMEFE LR L T4E 4H50N R E |4H5028 KA |4 508 Rt
204 |5HE |12 O H =, =, H
(1002 [HH=(100
4| EIMEFLR B T4H ESavO/AY N ISV NN
24) |58F |3ZFO4F  |/00:52.00 [01:50.50 [01:45.00 =
S|EMEsg BT (24 |65 |2 O 504t 1:40 o
olEvMEEg T4 (24 657 |2 O  [100H H1:5(1008£2'10" |50{(11'05"
Narvranra |y g |EOR f%ﬁxﬁaam gg@ﬁ{rﬂfm gg&ﬁm}:ﬁ 1" "
QlEhEs T4 |AESR |1BE (2 O= 504 H=t1:07 =
_ 2004 K E =
O|B/psegze 74 507 « 20081
3EL |35 OB 100%%2'00 SRE TGRS HH
_ 200 R EHHI=
L0|Bh e fpaiT 4 1008 50 504 547 « 2004
A 113 [ OF 01:47.71 |00:42.40 |00:37.75 [\R&=t#hH <4
_ 2003 K E =
11 |Bhep a2 T4 6571+ 20051
agl |E [ O |50 REAREN #
_ 2008 R EH=
12| ep gkt T4l ) - 2005
awgy |58F |3 O8&  |10012'10" [1008£2'00" |100E 150" [EasiE T |#
e 5OAREE  [10023 A0 |50/ Rt
D[NEFRST s |3 |BOR |49.32 #£1:44.09 [44.06 oA
14|E e e |5E4R |48 |FRO P 501 50{([l 20038, G
15BN S 4R HEZ50 [{I=504  [#HE1002
saEgy |4pr |2 O% | K—53.66 |K—59.23 |K2435F) x5
16| g T4l : 1005 e
BUNSTRCATRE Neeap [1pr (O % 1'40" 200[52'00 |100{1'50" H
17| hesEsara |6k (15 [#O2  [10051'40" [1008%1'38" [1001711'35" =
18| A4 |6dgk [35F | E Ok 100 1'45" |508%:1'00" 20076 & = 5%
~ 200/\
19|88 e B T4 . jj‘{ Eogozi
6 |43E | O% 500 RSN [E




